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= Year 12                     = Calculus                     = Worksheet 9 
 

1. ( ) xxxF 2cos3sin −=  is an anti-derivative of ( )xf  on 










6
,0
π

. Find the exact value of ( )dxxf∫
6

0

π

. 

 

 

 

 
 

2. ( ) xxxF elog=  is an anti-derivative of ( )xf  on [ ]1,2 −− . 

Find the exact value of ( )dxxf∫
−

−

1

2

. 

 

3. ( ) xexxF −= 2  is an anti-derivative of ( )xf  on [ ]1,2 −− . Find 

the exact value of ( )dxxf∫
−

−

2

1

. 

 

 

 

 

 

4. Find the indefinite integral of ( ) 3
23

−− x . 

5. Evaluate dx
x∫

−

− −

1

3
1

2
. 

 

 

 

 

 

 

6. Find ( ) dxx∫
−

−
1

23 . 

 

 

7. Given ( )













−=

−
222

xx

eexf , find ( )dxxf∫ . 

 

 

 

 

 

 

8. Evaluate dx
x

dx
x

∫∫ 







+








− ππ

00
2

sin
2

sin . 

9. Evaluate dx
xxdx

d
∫ 

















+−

2
1

0

2
1

1
. 

 

 

 

 

 

 

10. Given ( ) π
π

=∫ dxxg

2

0

, evaluate ( ) dxxg
x

∫ 







−







2

0

2
2

cos

π

π
. 

11. Evaluate dx
x

x
∫ 









+

+3

1

3

1

1
. 

 

 

 

 

 

 

Numerical, algebraic and worded answers. 

 

 

1
. 
 3

/2
 

2
. 
 l

o
g

e4
 

3
. 
 4

e
2
 −

 e
 

4
. 
 1

/[
4

(3
−2

x
)2

] 
+

 c
 

5
. 
 l

o
g

e4
 

6
. 
 2

√
(3

x
−2

)/
3

 +
 c

 

7
. 
 4

(e
x
/2
+

e−
x
/2
) 

+
 c

 

8
. 
 4

 

9
. 
 1

/3
 

1
0
. 
0

 

1
1
. 
2

0
/3

 

 


